E1RT—2 (1)

A 1~5 a—hk B o— 7 A | AT EERGER | itsisksT7 B) | AE | | /| ERT
L& = 7 = 5—0 4—1 5—-0 6 1
2 | 78 Am T L Bk E B 0—5 3—2 5—-0 5 2
3 | B eEks57 (B) 1—4 2—3 3—2 4 3
4 | 4 Al 0—5 0—5 2—3 3 4
B| 6~10=—F | A R S| Y T C| =2 xv | KEBEII77 | 548 /| B
51 A R S 1—4 1—4 1—4 3 4
6|Y T C 4—1 4—1 2—3 5 |6/4| 1
7= A » b 4—1 1—4 4—1 5 |5/5| 2
s| kBT 7 4—1 3—2 1—4 5 46| 3
Cl| 11 ~15 =—h | ¥ L2RH—X |7 = L % A| % B TV—=TuA | G| /0| NERE
9 | FHrrr—x 4—1 5—0 5—0 6 1
(v = v & A 1—4 4—1 3—2 5 2
11| % B 0—5 1—4 3—2 4 3
12079 —37 v % 0—5 2—3 2—3 3 4
D| 16 ~20 a—b [BEBEOTFIFT|R K 7 7 T|BlsEkr77 ()| NKEEKEH | S0 | B8] BT
13| BBEEOTIT7 1—4 3—2 4—1 5 |46 3
u|\f 8 7 7 7 4—1 2—3 5—-0 5 [6/4] 1
15 | BAtsiEks 7 (A) 2—3 3—2 4—1 5 |5/5| 2
16| N « K 5 B 1—4 0—5 1—4 3 4

HAIERF

4F—L D2—3.1—4 22—4.1—3 @3—4.1—-2




[ 1 — L

( ~ 5 O—pk
1|l &x — 7 = 1 1| o z2x4—X 19
2 | dAmEEKGER | 2 2| v = v x 2|10
3| iteskss7(B) | 3 3| =% # |11
4| | 4 T 4|70 —F v A |12
51 A R s | 4 3| BT ro7 |13
6| Y T cl| 1 1\ 57 7 7 |14
712 2 o K| 2 o 1 2 | mitsksI7(A) | 15
S| W Er77 | 3 4 | N - KH E# |16

3 i R E E
1
e
2R b—F A F

(6 ~ 10 a—F )
1l & — 7 = 1 1| o z2x4—X 1|9
2 | AT EEREY [ 2 . 2|7 = )b % A |10
3| Bitskss7(B) | 3 3| % # |11
4 | 1 |4 3|2 41 7)== 2|12
51 A R S| 4 3| BEEOTII7 | 13
6 Y T C 1 1R 57 7 7 |14
7= 2 v |2 ! 2 | misEmss7A) |15
S| KB 77 |3 4 | N+ K H B # |16




L b—F A2 b

¢ 11

~ 15 a—p )

1l &k — 27 =1 1|y 2xx2—X19
2 | At EkER | 2 - 2| v = x 2|10
3| BitsiEkss7(B) | 3 3| % 7% |11
1| B 4 F 4|70 —Fv 2|12
51 A R S| 4 3| BEEOTITT |13
6| Y T c|1 1R R 277 7|14
72 » o |2 2 | BisKksT7(A) |15
8| Rk & 277 |3 4 | N-KHE# |16
4 b—F A2k
(15 ~ 20 a—F )
1|l — 7 =|1 1| ¥y 2xx2—X19
2 | AT R EKER | 2 0 2| v = x A2[10
3| HikeiEks77(B) | 3 3| % %% |11
4 | 7E F 14 3|0 4|1 70— 2|12
51 A R S| 4 3| BEkEOT/77 |13
6 Y T cl|1 1R B 7 7 7 |14
T2 A v b2 0 2 | pitsks77(A) |15
8| KImHu 277 |3 4 | N-KHEH |16




